
 

 

Answer on Question#55025, Physics – Astronomy, Astrophysics 

If the Earth were a volley ball what would be the diameter of the Sun? What object matches  

this size? 

Answer 

The diameter of the Earth is 2 ∗ 6400 𝑘𝑚 = 1.28 ∗ 107 𝑚. 

The diameter of the Sun is 2 ∗ 695 500 𝑘𝑚 = 1.391 ∗ 109 𝑚. 

The diameter of a volley ball is around 20 𝑐𝑚 = 0.2 𝑚. 

𝑑𝑏𝑎𝑙𝑙

𝑥
=

𝑑𝐸𝑎𝑟𝑡ℎ

𝑑𝑆𝑢𝑛
 → 𝒙 =

𝑑𝑏𝑎𝑙𝑙 ∗ 𝑑𝑆𝑢𝑛

𝑑𝐸𝑎𝑟𝑡ℎ
≈ 𝟐𝟐 𝒎 

If the Earth were a volley ball, the Sun’s diameter would be 22 m. It is around the height of    4 

- 5 storeys building.  
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